
T25 M5x16

2 T25 4.8x32

13

4
T25 M5x40

3

5 4 1

2

1

2

T25 M5x50

T25 5.0x60

2
1

2

Installation Instructions

DC500 Cam-Motion®

R2 R4R1 R3

L2L1 L3 L4

2a

850mm
750mm

950mm
1100mm
1250mm
1400mm

EN3
EN4
EN5
EN6

EN2
EN1

16

8 4 1 11 4DC500
DC500Basic 2812-CPR-AD5241

Dangerous substances: None

EN 1154:1996/A1:2002/AC:2006
3

Abloy Oy,
PO Box 108
80101 Joensuu
Finland

8 6 1 13 4DC700 2812-CPR-AD5238

Dangerous substances: None

EN 1154:1996/A1:2002/AC:2006
3

16
Abloy Oy,
PO Box 108
80101 Joensuu
Finland

16

8 6 1 13 4DC700DA 2812-CPR-AD5239

Dangerous substances: None

EN 1154:1996/A1:2002/AC:2006
3

Abloy Oy,
PO Box 108
80101 Joensuu
Finland2812

DoP
DC500/
DC700

DC500/
DC700

DIN R

DIN L

Montageplatte

mountingplate

Gewinde M5
thread M5

213,5

160

110

32
56

61
24

142

34
51

100

DIN Rec hts
DIN right

110

176,5 105

Doc. N .: 6001011

DC700DC700DA
max. 1400mmEN 3-6

DC500DC500Basic
max. 1100mmEN 1-4

2 3

R1

α ≈
5,5°

L1

α ≈
5,5°

R2 / L3

α ≈
5,5°

L4 α ≈ 16,5° R4 α ≈ 16,5°

1b1a

2b

R3 / L2

α ≈
5,5°

DC500: MAX. EN3
DC700: MAX. EN5

DC700
EN3=165°
EN6=160°

115°

150° 125°

DIN L1/R1 DIN L3/R3

DIN L2/R2 DIN L4/R4

6006618

DC500
170°

DC500Basic Cam-Motion®

DC700 Cam-Motion®

DC500: MAX. EN3
DC700: MAX. EN5

DC500

DC700
DC500

DC700

2812

2812

www.abloy.com/dop



2

2

1

Click
1

1

Click

1

3
2

5T25 M5x40

2

1

0-14 mm

6

1.4.2021

4 5

Option:
DC700DA

D
C

LB
+

7

3

8b8a

Abloy Oy
P.O.Box 108
80101 Joensuu
FINLAND
Tel.: +358-20 599 2501
Fax: +358-20 599 2209
www.assaabloy.com
www.abloy.com/dop

min. EN3 

DC700
DC500

EN1
--
-5

EN2
--
-3

EN3
-1
 0*

EN4
 0*
+3

EN5
+3
--

EN6
+8
--

DC500: Min = -7    DC700: Min = -3 

Not on DC500Basic

ORIGINAL

*= Factory
      Setting


